Aarebpa, cemuuap 16 ceaTabps

Jagaua 1. (nosmopeniue AERUUOHRO20 MONLERLL0 l. ,.[Eililpl A ATHOIO'YIIeH A I = GDIﬂ +...+dnpH
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glz) = bpz™ + ... + by ¢ KOpHAMI Q... 0 ¥ B1,. .., B;m coorsercrsenno. Hokaxure, yro caeayviomme
onpejleiedns pesyasraata passocnanas:  (a) R(f,g) = af'bg [1 Isicn (v — B;):
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(b) R(f,9) == af [l ¢;cn9(ca); () R(f,g):==det|p 4 7 5 0 0. 0]
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Bamaua 2. okanumre, 1o pesvistar jaeiednd ¢ octatkor [ = gg + 7 vosker ObiTh Heio/ib308aH 114
shianciaenns pesyistanta R(f, g) = bi% 8T Ry g).
Bagaua 3. lokasure. uro  (a) R(f,g19) = R(f,@1)R(f.g2): (b) R(f.g) = (=1)%efd2aR(q f).

Sagaua 4. Boraueanre pesyvisrant MHOr0SIeH0R
(a) * =322+ 2z +1u 22 —z— 1;
(b) 22* — 32>+ 2z +1u 2?2+ +3.

Sagaua 5. Mewnoants £ U3 cHeresnl vpasienii

(“){Iz y,zy ) (b) 3 ,y_ g y -
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Bamaua 6. llvers na naockoctn 3aiada panodaisian napaverpusanna (z(t), y(t)) anebpanueckoil
kpneoil,. Hanmmre ypasienne, 3ajaoiese a1y KpuByio, ecin
(a) z(t) =12, y(t) = 2(t + 1);
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(b) =(t) = it y(t) = St

SBamaga 7. Haitryn JnckpiudHanT MHOTOMIEHOE:
(a) axr® 4+ br + ¢ (b) 4 pr+ g (c)  + a1x® + asr + as.

Bagaua 8. /lokasars, uto  (a) D[(x —a)f(z)] = f(a)’D[f(z)]:  (b) D[fg] = D[f]D[g][R(f,q))*
Bagaua 9. Buraucants anekpuvniant vuorodiena:  (a) 1+x+4+...4+2"  (b) l—l—ﬁ—k%ﬁ—i—...—k%.



